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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 4th Semester Examination, 2022  

DSC1/2/3-P4-BOTANY 

PLANT PHYSIOLOGY AND METABOLISM 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 

 GROUP-A /  িবভাগ-ক / [k.M-d 

1. Answer any five questions from the following: 
িনmিলিখত েয-েকান পাঁচিট  pেűর উtর দাওঃ 
fuEufyf[kr dquS ik¡poVk iz”ug:dk mÙkj ys[k% 

1×5 = 5

(a) What is meant by micronutrients? Give two examples.
Micronutrients-বলেত িক েবাঝায় ? dিট উদাহরণ দাও। 
ekbZØksU;qVªh;UV (micronutrient) HkUukys ds cqf>UN \ dquS nqbZoVk mnkgj.k nsÅA 

(b) What is RQ? 
RQ িক ? 
RQ ds gks \ 

(c) Define Hill reaction. 
Hill reaction-এর সংjা দাও। 
Hill reaction dks ifjHkk’kk ys[kA 

(d) Name two synthetic auxins. 
dিট িসনেথিটক অিkন-এর নাম েলখ। 
nqbZoVk synthetic auxins g:dks uke ys[kA 

(e) Name one C3 and one C4 plant. 
একিট C3 ও একিট C4 উিdেদর নাম েলখ। 
,mVk C3 vfu dquS ,mVk C4 mfön~ dks uke ys[kA 

(f) What is leghemoglobin? 
Leghemoglobin িক ? 
ysxgseksXykschu (leghemoglobin) ds gks \ 

(g) Name two free living nitrogen fixer.
dিট sাধীনজীবী নাইে¹ােজন আবdকারীর নাম েলখ। 
dquS nqbZoVk eqDr okl xusZ (free living) nitrogen fixer dks uke ys[kA  
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(h) What is Red drop?
েলািহত c°িত িক ? 
jsM Mªki (Red drop) izHkko ds gks \ 

  
 GROUP-B /  িবভাগ-খ / [k.M-[k 

2. Answer any three questions from the following: 
িনmিলিখত েয-েকান িতনিট  pেűর উtর দাওঃ 
fuEufyf[kr dquS rhuoVk iz”ug:dk mÙkj ys[k% 

5×3 = 15

(a) Define transpiration. Write the different factors affecting transpiration. 
বাźেমাচন এর সংjা দাও। বাźেমাচেনর িবিভn pভাবকgিল সmেক� েলখ। 
ok’iksOltZu (transpiration) dks ifjHkk’kk ys[kA ok’iksOltZuykbZ izHkko ikusZ fofHkUu 
dkjdg: (factors) dks ppkZ xjA 

1+4 = 5

(b) Write a short note on Phloem loading and unloading.

েŅােয়ম েলািডং এবং আনেলািডং-এর সংিkp টীকা েলখ। 
¶yks;se yksfM vfu vuyksfM ekfFk laf{kIr fVIi.kh ys[kA 

5

(c) What is enzyme? Write a note on classification of enzyme.

এনজাইম ্  িক ? এনজাইম ্  -এর েËণীিবভাগ সmেক� টীকা েলখ। 
bUtkbe (enzyme) ds gks \ ;ldks oxhZdj.k (classification) dks ckjsek ,mVk fVIi.kh 
ys[kA 

1+4 = 5

(d) Describe the role of IAA in agricultural practices.
kিষ উৎপাদেন IAA-র ɛিমকা আেলাচনা কর। 
Ñf’k mRiknuek IAA-dks Hkwfedk foLrkfjr :iek ppkZ xjA 

5

(e) Schematically present TCA cycle.
েরখািচt সহেযােগ TCA চk বণ�না কর। 
;kstukcn~/k :iek (Schematically) TCA pØ dks o.kZu xjA 

5

  
 GROUP-C /  িবভাগ-গ / [k.M-x 

3. Answer any two questions from the following: 
িনmিলিখত েয-েকান dিট  pেűর উtর দাওঃ 
fuEufyf[kr dquS nqbZoVk iz”ug:dk mÙkj ys[k% 

10×2 = 20

(a) Outline the pathway of Crassulacean Acid Metabolism (CAM) and point out its 
differences with C4 cycle.  
Crassulacean Acid Metabolism (CAM) চেkর rপেরখা িববরণ দাও এবং C4 cycle-এর 
সােথ ইহার পাথ�ক° উেlখ কর। 
Crassulacean Acid Metabolism (CAM) dks :ijs[kk fooj.k xnSZ ;ldks C4 pØ lax 
fHkUurk mYys[k xjA 

8+2 = 10
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(b) Discuss the process of biological nitrogen fixation. Name two nitrogen-fixing 
bacteria. 
বােয়ালিজক°াল নাইে¹ােজন িফেkশন পdিতিটর বণ�না দাও। dিট নাইে¹ােজন-িফিkং ব°াকেটিরয়ার 
নাম েলখ। 
tSfod ukbZVªkstu N2 LFkk;hdj.k (fixation) dks iz.kkyh dks foLrkfjr ppkZ xjA dquS 
nqbZoVk ukbZVªkstu LFkk;hdj.k xusZ thok.kq (bacteria) dks uke ys[kA 

8+2 = 10

(c) Describe the role and deficiency symptoms of nitrogen, potassium, iron and zinc. 
উিdদেদেহ নাইে¹ােজন, পটািসয়াম, আয়রন এবং িজেìর উপেযািগতা এবং অভাবজিনত উপসগ�gিল 
আেলাচনা কর। 
ukbZVªkstu (N2), iksVkfl;e (potassium), vkbZju (iron) vfu thUd (zinc) dks 
Hkwfedk vfu f;uhg:dks dehdks y{k.kckjs ppkZ xjA 

2 2
1 ×4 = 10

(d) What is photoperiodism? Distinguish between short day, long day and 
dayneutral plants with proper examples. What are phytochromes? 
ফেটািপিরয়িডসম বলেত িক েবাঝ ? hsিদবা, দীঘ�িদবা এবং িদবা-িনরেপk উিdেদর উপযুk উদাহরণ 
সহেযােগ tলনা কর। ফাইেটােkাম (phytochrome) বলেত িক েবাঝ ? 
QksVksfifj;ksfMte (photoperiodism) ds gks \ NksVks fnudks mfön~ ] ykeks fnudks mfön~ 
vfu fnu rVLFk (dayneutral) mfön~ dk ikFkZD; lfBd mnkgj.k lfgr mYys[k xjA 
QkbZVksØkseg: (phytochromes) ds ds gqu~ \ 

2+6+2 = 10
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